Cll# YMHOXEHHE TeCATUYHBIX TPO0eH Mo perieTKe

Nwms:
Hcnoab3yiiTe BU3yaJbHYIO MO/€JIb, YTOObI PELIUTH 3a1a4y. OTBEeTHI
1) 0,5%x0,7= 2) 0,7x0,5= 3) 0,1x0,4=
1.
2.
3.
4.
4) 0,7x09= 5) 0,1x0,7= 6) 0,9x0,8=
5.
6.
7.
8.
7 0,7%x0,2= 8 0,8x0,7= 9 0,8x0,2=
9.
10.
11.
12.
10) 0,8x0,8= 11) 0,3x0,5= 12) 0,6 x 0,6 =
13.
14.
15.
13) 02x0,2= 14) 0,1 x0,6 = 15) 0,6 x0,8=
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# YMHOXEHHE TeCATUYHBIX TPO0eH Mo perieTKe

Nwms: Ki104 kK npaBuJIbHBIM 0TBETAM
Hcnoab3yiiTe BU3yaJbHYIO MO/€JIb, YTOObI PELIUTH 3a1a4y. OTBeThI
1) 05x0,7= 2) 0,7x05= 3) 0,1x04= 35
1. /100 =0,35
35
2. /100 =0,35
4
s i =004
63/ _
4. 100 — 0,63
4) 0,7x0,9= 5) 0,1x0,7= 6) 09x08= 7 _
5. /100 - 0907
72
6. /100 =0,72
14/ B
7. 100 — 0,14
56/ _
8. 100 — 0,56
7 0,7%x0,2= 8 0,8x0,7= 9 0,8x0,2= 16 .
9. /100 =0,16
64
10. /100 = 0,04
15/ B
11. 100 — 0,15
36
12. /100 =0,36
10) 0,8 x0,8= 11) 03 x0,5= 12) 0,6 x0,6 = 4,
13. /100 = 0,04
6
14, /100 = 0,006
48
15. /100 =0,48
13) 02x0,2= 14) 0,1 x0,6 = 15) 0,6 x0,8=
M 7 1-10 [93[87[80 (73] 67] 60|53 [47[40]33]
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